2 23}
== (ol @8l
HE - SR(3H) - MIRAY - BY S Ofl &F o4 gg;ﬁ; HRs2
32,460,687 10,489,294
= 10,037,011
2 3,529,800
s 446,847
= 2,552,485
2 15,894,544
SOl BWA L 21,932,807 5,248,032
=2 8,133,401
2 1,500,000
£ 446,847
= 1,433,755
2 10,418,804
ool ZYU0IeIC A 280,670 A501,294
=2 42,155
= 30,445
2 208,070
IPNE 36,260 1,366
& 7,252
2 29,008
A 2 Y| 36,260 1,366
& 7,252
2 29,008
22l 36,260 1,366
2 SOUASES(4512) 36,260,000 36,260
= 7,252
2 29,008
ELEpY 44,800 22,400
= 32,000
= 6,400
2 6,400
2H0I & 44,800 A22,400
= 32,000
= 6,400
2 6,400
EIEPNIEES 44,800 22,400
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S AP S

HE: S0l ZM Ys
o9 S0l FY0IE XD (S5 &)
SN EE - ER(EN) - NRAY - BaS sl e HlRE2
IT&#E JA0UAIE SIAMAAAE XA 24,000 0 24,000
& 12,000
= 12,000
402 QIEGE01M 24,000 0 24,000
< 12,000
2 12,000
01 Y2tR=Ex 24,000 0 24,000
o |TE#E JUAE SIMAAAE XA
40,000,000 * 1=2Jt = 60/100 24,000
= 12,000
i 12,000
B =R FA 2,000 5,000 23,000
203 YSRF&H| 2,000 5,000 23,000
03 AIMFAHR =LY 2,000 5,000 23,000
o ZEdsg YRFAH 2,000,000 2,000
sgolo =X & 1,358,058 1,319,332 38,726
= 322,000
&2 296,847
= 253,456
= 485,755
s0eH &lts X& 630,000 610,172 19,828
= 252,000
= 138,600
= 239,400
301 Lpt8azg 630,000 610,172 19,828
= 252,000
& 138,600
= 239,400
02 Hatsdeti=s 630,000 610,172 19,828
o =YHOXAS NS X (650 )
630,000,000 630,000
=2 252,000
= 138,600
i 239,400
sgelFsotd=sH XA 644,000 300,000 344,000
= 322,000
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S AP S

B =0 AMe Usl
R RE LR (et9l: 22
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
SHOHLOIYF=H| K& T 96,600
iy 225,400
307 QIZtolA 644,000 300,000 344,000
= 322,000
= 96,600
o 225,400
02 QI2AEAMNEX 644,000 300,000 344,000
o g0l L0t 4=FRH| X2 (500%)
644,000,000 644,000
= 322,000
= 96,600
= 225,400
HAEsHOMEHESHE K& 73,258 95,800 N22,542
= 39,447
== 16,906
iy 16,905
402 QIZtXIE0| A 73,258 95,800 N22,542
= 39,447
& 16,906
iy 16,905
01 QI2tX=2Ex 73,258 95,800 N22,542
o (d=gol HEHY 29
73,258,000 * 1JH A 73,258
= 39,447
o= 16,906
= 16,905
SIHER0I K& 10,800 9,360 1,440
= 5,400
= 1,350
iy 4,050
402 QI2tX 20| 10,800 9,360 1,440
= 5,400
= 1,350
iy 4,050
01 QI2X=2EX 10,800 9,360 1,440
o SIIER0IXA 900,000 * 15Y * 80% 10,800
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S A

e
Hu: = AH Y
£H9l: sejolo] =X Crol & 2
M-8 SRI(310) - MRAY - BeS sl e HlRE2
= 5,400
= 1,350
i 4,050
dedsgy 54 7,591,933 6,620,677 971,256
= 6,293,443
& 62,578
i 1,235,912
==L 1,749,846 728,620 1,021,226
= 857,443
L= 10,488
s 881,915
206 TH=HI 34,960 32,400 2,560
& 10,488
i 24,472
01 XZHl 34,960 32,400 2,560
o Z oot 40,000 » 874 34,960
= 10,488
i 24,472
402 QIZHR} 1,714,886 696,220 1,018,666
= 857,443
s 857,443
02 GlZtiHe 1,714,886 696,220 1,018,666
o ®7IE
1,714,886,000 1,714,886
= 857,443
[ia 857,443
HEHHEM 5,451,000 5,563,090 A 112,090
= 5,431,800
& 5,760
i 13,440
301 LetEd= 5,451,000 5,563,090 A112,090
= 5,431,800
L= 5,760
= 13,440
12 JIEt2 &3 5,451,000 5,563,090 A 112,090
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2AM: sEsE
M =¢ J3W¥H L
o MEdsg ]4 (ctel- e
- _ _ bSRE Y=
2N -3 - c2(3H) - NEME - HES Ol & @;OH Hns
o MASE BHXNEH(6,813nha)
4,784,600,000 4,784,600
= 4,784,600
o xEH sHAF X2 (2,008na)
602,400,000 602,400
= 602,400
o XHE2XNY 2 =H(160ha) 64,000,000 64,000
= 44,800
[ 5,760
= 13,440
=g MEXH 10,545 10,545 0
T 4,218
= 6,327
307 QIZtolA 10,545 10,545 0
== 4,218
iy 6,327
02 QUHBAEX 10,545 10,545 0
oAHIXEH XEEsY MELNF(320¥)
10,545,000 10,545
T 4,218
= 6,327
SgEd 28 2 =388 XA 17,412 16,802 610
101 Q14 d| 12,012 11,602 410
10 JIZHZ2XNEES 12,012 11,602 410
o MNEH A 22TE 4
32,850 * 119 » 30 10,841
o A} BEEZ 10,841,000 * 10.8% 1,171
201 BtEAY| 3,400 5,200 A 1,800
01 ArR2t2|t| 3,400 5,200 A 1,800
< gte=d| > 0
o XESAN S EE22
50,000 *= 1208 * 13l 600
o EE sHNS(E3F)MMU E2d8H
20 * 15,00000 = 13 300
o NeEdMAMANE=01) E2XCt
20 * 15,00000 = 13 300
o FEE =2 WM
1,000 = 1,800 * 13| 1,800
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(==} [==) (=)
= = — )
Hetdsg 24

S HE - S(EH) - NRAY - BES sk oy S D=2
0f 4 o
o HAS U ZAZCIAEH B2
20 = 20,0000 = 13 400
301 ptsazg 2,000 0 2,000
10 FAIAHIEA S 2,000 0 2,000
o MEF=sHel W= 50,000 » 409 2,000
ANEEtE=s sHEUM |4 76,000 0 76,000
L= 19,000
= 57,000
402 QIEXE01 M 76,000 0 76,000
& 19,000
i 57,000
01 QtR=8x 76,000 0 76,000
o NASHES SAUIK S4
95,000,000 * 1JHZ = 80% 76,000
< 19,000
i 57,000
Mtdsd HMEs=2 193,050 193,050 0
402 2I2HX+E 0l 193,050 193,050 0
02 QIZHCHEH AL 193,050 193,050 0
o RAcla&E e X&A
3,300 * 117,000 = 50% 193,050
HHY =+=A 4,200 4,200 0
= 4,200
301 YBtEA= 4,200 4,200 0
= 4,200
12 JIEIEAZ 4,200 4,200 0
oHBIEZ2HEl XI&(140€)
4,200,000 * 14 4,200
= 4,200
oS 89,880 104,370 214,490
& 23,112
i 66,768
301 Lptsazg 89,880 104,370 214,490
& 23,112
= 66,768
12 JIEIEH3 89,880 104,370 214,490
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S A

S
XN ZH: =
(==l I =)
il
&l

Ciel: Rz 54 Rk
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
o HEEsae AEsIl A
300,000 * 428 * 70% 89,880
< 23,112
= 66,768
TEtE =2 - RIIs @A =24 6,037,070 3,487,280 2,549,790
== 487,168
iy 5,549,902
stFa XXy 1,411,600 1,531,600 A 120,000
= 422,480
o 989, 120
402 QI2tX =0l 1,411,600 1,531,600 A 120,000
& 422,480
o 989, 120
01 QX2 EX 1,411,600 1,531,600 A 120,000
o HBASACT X4
2,000,000 * 930ha * 70% 1,302,000
= 390,600
o 911,400
o Rils B2 =4
100,000,000 * 1JHZA = 70% 70,000
== 20,000
o 50,000
o NZEMN FFIHLEHIZTY
600,000 * 66ha 39,600
= 11,880
- 27,720
SHAxEH & SHAIS 4,371,400 1,698,460 2,672,940
301 LBt A= 85,000 0 85,000
12 JIEIEAZ= 85,000 0 85,000
o PEO0lA MTHHHEIX MAXAS N 85,000
- FIIs=X 400,000 * 100ha 40,000
- 224 H 300,000 * 150ha 45,000
307 QI2tolA 25,200 36,960 A 11,760
6 22 25,200 36,960 A 11,760
o MEA=Y NBSDH PEE
560,000 * 150ha * 30% 25,200
401 AIEHIL204H] 800,000 500,000 300,000
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S A
X XH .
(=

chel:

_ _ MNuE o
A J2 . a2 (3H) - HRAY - BES Aol il i~ o HRs2
01 A&l 800,000 500,000 300,000
o HHAEAFTULTDAIL
800,000,000 * 1JH4 800,000
402 PIXROIH 3,461,200 1,161,500 2,299,700
01 QIAXERZE 1,050,400 1,161,500 A111,100
o M MACHE HEX
3,200,000 * 100ha * 80% 256,000
o HHASK =X N
2,000,000 * 637ha * 60% 764,400
o MUMASHATAIAEG BA
2,000,000 * 15ha 30,000
02 ©I2HTHEH AFRIH] 2,410,800 0 2,410,800
o b FEBIXEHIE N
17,000 * 120,000% * 80% 1,632,000
o SHYHE ASYH =W 778,800
Sl k= 150,000 * 5,790Na * 80% 694,800
- FEASN 500,000 * 210ha * 80% 84,000
sHpxS 40,700 59,450 A 18,750
= 8, 140
2 32,560
402 PI2XHROI 40,700 59,450 A 18,750
= 8, 140
2 32,560
EEEEEES 40,700 59,450 A 18,750
o EZ =42 a2l X
10,000,000 * 2942 20,000
= 4,000
= 16,000
o YRS NG S4
1,800,000 * 23CH * 50% 20,700
= 4,140
2 16,560
sy MRS 7,800 15,200 2,600
= 5,560
2 12,240
402 PIXHZOIH 17,800 15,200 2,600
= 5,560
2 12,240

- 320 -




EA dEdsd

HE: =0 YA Y3
ool HEY 59 RIIs SX £4 (9l &2
SN-EHH . SH(BH) - HPAY - BE2 Ofl AF o4 giﬂgﬁ; B2
01 DIAK=ELE 17,800 15,200 2,600
o 222 WHHE =0 X2
2,600,000 * 372 7,800
= 1,560
2 6,240
o B, P2 HHRS x4
2,500,000 * 8ha * 50% 10,000
= 4,000
2 6,000
Hed SIIHK 167,570 167,570 0
= 50,968
2 116,582
402 QIR+ OIF 167,570 167,570 0
= 50,968
2 116,582
01 QIAX=RLE 167,570 167,570 0
o FRI WYT LN 77,000 * 1107 8,470
= 3,388
2 5,082
o B AABAY s8B!
13,000,000 * 1CH * 70% 9,100
= 2,600
2 6,500
o HBHUX SI1 X
50,000,000 * 6JH4 * 50% 150,000
= 45,000
2 105,000
deyexe 2 s N 28,000 15,000 13,000
402 PIZHRIZO0IH 28,000 15,000 13,000
NEEEEES 28,000 15,000 13,000
o PoIY, AZY WHEST =&
560,000 * 100ha * 50% 28,000
AU SX S4 N 1,462,060 704,200 757,860
= 120,508
= 800,000
= 180,094
2 361,458
NEETRCTEDIE=R-2=2 75,600 75,000 600
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2N JEF=sF
B =0 AMe Usl
ol 20 SX 4 X8 (SHol:®el)
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
AMEK0 UKol a3t = 37,800
= 11,340
iy 26,460
402 QI2tX =0l 75,600 75,000 600
= 37,800
== 11,340
iy 26,460
01 QI2X=2EX 75,600 75,000 600
o AIEZ0W HUHXIOIE &85
126,000,000 * 60% 75,600
= 37,800
T 11,340
= 26,460
AEEZ A0S WS 206,770 229,200 NA22,430
= 82,708
= 31,534
o 92,528
402 QIZ2EX 20| 206,770 229,200 AN22,430
= 82,708
== 31,534
o 92,528
01 QIZX=2EXR 206,770 229,200 N22,430
o MAEEZ 2A0E=S HSLMAIY(49.7ha
) 413,540,000 = 50/100 206,770
= 82,708
< 31,534
= 92,528
=220 MWAZ H=SHEAIY 46,250 50,000 A3,750
= 18,500
iy 27,750
402 QIZ2EXE0| A 46,250 50,000 N3,750
== 18,500
iy 27,750
01 QI2X=2EX 46,250 50,000 A3,750
o #2320 WAR H2HE(3.7ha)
92,500,000 * 50% 46,250
o= 18,500
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SN ASB=sTY
HH: sol PMH A3
e©el: 20.S% |4 XA (S92
SN -3 S2ARAH) - MFAY - BES Ofl &F 94 glggi; Hns2
2 27,750
NS0 MaretX] =4 173,440 0 173,440
= 86,720
= 86,720
402 QIAX=0IH 173,440 0 173,440
= 86,720
2 86,720
01 QARE=EX 173,440 0 173,440
o AARA0 MAST E£H
346,880,000 * 50% 173,440
= 86,720
2 86,720
E0LE Mad|gh x4 480,000 0 480,000
2 400,000
< 16,000
2 64,000
402 RIZIXE0IH 480,000 0 480,000
2 400,000
= 16,000
2 64,000
01 QAX2EX 480,000 0 480,000
o E0E MAD|8 X4 (6ha)
800,000,000 * 60% 480,000
2 400,000
== 16,000
2 64,000
EO0E M2MMEX =4 480,000 0 480,000
2 400,000
= 16,000
2 64,000
402 QIAX=0IH 480,000 0 480,000
2 400,000
= 16,000
2 64,000
01 QX2 480,000 0 480,000
o EOE MSMAEX X4(4.8na)
800,000,000 * 60% 480,000
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SN HEY s
M so Y Y3
ool H0.SX S4 XY (5l &2
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
2 400,000
= 16,000
2 64,000
A0l - ST BAAL N 2,684,382 2,280,474 403,908
= 420,296
= 700,000
= 234,029
2 1,330,087
Al 210l I 2 433,500 82,500 351,000
402 QIR+ OIF 433,500 82,500 351,000
01 PRAESE 433,500 82,500 351,000
o BE Y AY 82,500
- A8PH AW 1,800,000 * 602 * 50% 54,000
- E82F N 5,700,000 * 102 * 50% 28,500
o HIJIGIRA 287 X
800,000 * 50% * 50% 20,000
o HIIREISA BIINE X
1,250,000 * 1205 * 50% 75,000
o HIJIEGIRA ZCHHII N
2,120,000 * 504 * 50% 53,000
o NEGHRA SLUSHAIL XD
5,000,000 * 208 * 50% 50,000
o SATHAIL X2
210,000,000 * Tha * 50% 105,000
o XIS YX X
480,000 * 2005 * 50% 48,000
BRI N 29,792 7,036 22,756
= 14,896
= 4,469
2 10,427
402 QIR+ OIF 29,792 7,036 22,756
= 14,896
= 4,469
2 10,427
01 P=EEx 29,792 7,036 22,756
o D42 F| 29,792,000 29,792
2 14,896
= 4,469
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SN AEYSTY
By =0l AW Ua

Sl R0l - ST DAL X (£ @8
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K glgafg Hlw &2
= 10,427
dey NS I 9,000 6,000 3,000
= 3,600
2 5,400
402 QI2EXHEOIF 9,000 6,000 3,000
= 3,600
2 5,400
01 QIAT=EE 9,000 6,000 3,000
o Mgy ABHSYL X (3na)
18,000,000 * 50% 9,000
= 3,600
2 5,400
Si2 BREY AY 9,000 10,500 A1,500
= 3,600
2 5,400
402 QI2FXHEOIF 9,000 10,500 A1,500
= 3,600
2 5,400
01 QIAR=EE 9,000 10,500 A1,500
o SM2 BEHA X 9,000,000 9,000
< 3,600
2 5,400
AUZSHAN QTR DE 75,000 67,500 7,500
= 22,500
2 52,500
402 QI2EXHEOIF 75,000 67,500 7,500
= 22,500
2 52,500
01 2IAR=LZE 75,000 67,500 7,500
o MRS T2t P (1ha)
150,000,000 * 50% 75,000
= 22,500
2 52,500
HA MaAE S s 21,600 9,000 12,600
= 8,640
2 12,960
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SN AEYSTY
By =0l AW Ua

ol R0l - SH DAE KIS (B9l ®2)
SA-EFH - SA(SAH) - MREAY - BES Off &F K glgafg BlusZ
402 QIHXHZOIH 21,600 9,000 12,600
= 8,640
2 12,960
EEDEEES 21,600 9,000 12,600
o B4 MAAIE B3
21,600,000 * 25 * 50/100 21,600
< 8,640
= 12,960
SHPHEE ANLASY A 41,000 34,500 6,500
= 12,300
= 28,700
402 QIHXHZOIH 41,000 34,500 6,500
= 12,300
= 28,700
NEESEEES 41,000 34,500 6,500
o HIYSY ALANSY N
82,000,000 * 50% 41,000
< 12,300
2 28,700
Olat MAMD|BH &5 7,000 4,000 3,000
= 2,800
2 4,200
402 QIHXHZOIH 7,000 4,000 3,000
= 2,800
2 4,200
EEDEEES 7,000 4,000 3,000
o 0lah MADIBE R (0.7ha)
14,000,000 * 50% 7,000
< 2,800
= 4,200
FTAJIZ NEXEHE AL 805,400 353,980 451,420
2 405,400
= 120,000
2 280,000
202 01| 3,000 3,980 980
2 3,000
01 =UHo7dl 3,000 3,980 980
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AN dEESsEL
PR
(==l I

CHol: 20| - SE DAL X (et9l: &2
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
= FTAJIZ ZLHAWHI 3,000,000 3,000
= 3,000
301 YEtEaEz 2,400 0 2,400
= 2,400
10 dAIAMHIEAZ 2,400 0 2,400
o FTADI=2 dAAHl 24 = 2,400,000 2,400
= 2,400
402 QIZHXE0|H 800,000 350,000 450,000
= 400,000
& 120,000
2 280,000
01 Q=8 800,000 350,000 450,000
o FTAD|= =M AtAlE Sat
1,600,000,000 * 50% 800,000
= 400,000
< 120,000
o 280,000
SOITHEHSH ® =Y 480,000 900,000 A420,000
s 400,000
& 16,000
= 64,000
402 QIZEXE01H 480,000 900,000 A 420,000
s 400,000
& 16,000
= 64,000
01 BIZEXI=282 X 480,000 900,000 A420,000
o LIITHHK HETH(Sa)
800,000,000 * 60% 480,000
P 400,000
= 16,000
o 64,000
SZA THeE &©#X =4 360,000 100,000 260,000
s 300,000
L= 12,000
= 48,000
402 BIZ2HX =0l 360,000 100,000 260,000
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S A

Mu: =o AW 2
Sl R0l - SE DAL K (5l &2
SH-EH . C(BH) - NRAY - BES 0ff &+ o4 ggi bRz
402 QIR+ OIF 2 300,000
= 12,000
2 48,000
01 CIAR=EE 360,000 100,000 260,000
o =2X MHSX E&(Ss)
600,000,000 * 60% 360,000
2 300,000
= 2,000
2 48,000
BN LT 356,850 172,000 184,850
201 L2yl 600 1,900 A1,300
IEEE 600 1,900 1,300
< Ysragll > 0
o D4 B2EC 20 * 10,0004 * 33 600
402 RIZEXHEOIH 356,250 170,100 186, 150
NEFFEEES 356, 250 70,100 186, 150
o Jlwe Al T4
40,000,000 * 13ha * 50% 260,000
o QU WHST =&
8,000,000 * 10ha * 50% 40,000
o D4+8 UM X
4,500,000 * 25CH * 50% 56,250
Sx2 Wl BHE X 56,240 56,240 0
= 28,120
2 28,120
307 2120l 56,240 56,240 0
= 28,120
2 28,120
06 =2&= 56,240 56,240 0
o =xE2 M PE2
1,850,000 * 152ha * 20% 56,240
= 28,120
2 28,120
==Y 185,132 18,300 166,832
2 122,471
= 20,445
2 42,216
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K
H0

9l

J
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e

n0

KIo

Bl w

2,160

2,160

2,160

164,672

164,672

164,672

H3ar
uiled
RIS

7,500

7,500

7,500

10,800

10,800

10,800

=
o

s

<J

7,500

2,250

A

rt

5,250
7,500

2,250

By

rH

5,250
7,500

7,500
2,250
5,250

H

H

12,960

7,200

fir

1,728

iy

H

4,032
12,960

7,200

mr

1,728

Iy

H

4,032
12,960

12,960
7,200

i

1,728
4,032

H

H

164,672

fir

115,271

16,467

iy

rt

32,934
164,672

i

115,271

16,467

iy

rH

32,934
164,672

164,672

115,271

i

tXt=01 &

X0
K4

.

Ho
100
=
K
Ho

15,000,000 * 1JH2A * 50%

oF

ol

KA

<0
R0
~J
=1

1,200,000 = 1€ = 128 = 90/100

ord

KA

<0
R0
~J
ol

164,672,000
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e
;
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i
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2
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S
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0

16,467
32,934

Homn

FTA sgisd K& 2,333,502 1,472,548 860,954

H

812,528
150,000
165,540

M HI

H

,205,434

ELMEH B2 616,089 323,398 292,691

W

492,871

H

61,609
61,609

M

402 QIEE0IM 616,089 323,398 292,691

r
r

H

492,871

H

61,609

A

61,609

-

02 CIZtCHE AL HI 616,089 323,398 292,691

o ELMH 22(4,5328) 616,089,000 616,089

H

492,871
61,609
61,609

M

02
Jz
=
1%

EL0ISB(SAN) 194,000 0 194,000
150,000

44,000

HI

M

206 M=l 11,000 0 11,000

01 M=ol 11,000 0 11,000
o EMOE(SXMEHY 29
1,500,000 * 421 6,000

o SN =ZESH FE 25,000 = 200 5,000

402 fI2t=E0ld 183,000 0 183,000
150,000

HL

A

33,000

2,500,000 = 5CH * 50%

- 0= HHeD 1,200,000 * 5CH * 50%

183,000
13,000
6,250

3,000

183,000
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HE: =0 YA Ys
S9: FTA 5984 (29 &)
_ _ HE T
SN-EHH . SH(BH) - HPAY - BE2 Ofl AF o4 il b o B2
—PH =F))| 1,500,000 * 504 * 50% 3,750
o LAO0(SIH)EHSAT Al
150,000,000 150,000
= 150,000
o EMOE (SNM) B, 9, AL 20,000
- JIBAIA 15,000 000 * 1% 15,000
- EEA R 500 * 20,0007 * 50% 5,000
SRV E SN 688,313 702,000 A13,687
= 319,657
= 63,931
2 304,725
307 eI2t0|H 49,000 0 49,000
VIEEEREES 49,000 0 49,000
o SSM 20 U3 20,000 * 1,250kg 25,000
o JHABZYX SSM SHAL
30,000 * 1,000kg * 80% 24,000
402 PIZERIZO0IH 639,313 702,000 162,687
= 319,657
= 63,931
2 255,725
02 BIZHHEAILIH] 639,313 702,000 62,687
o =HESEXHN L 639,313,000 * 14! 639,313
2 319,657
= 63,931
2 255,725
DEICUCH S4 750,000 433,000 312,000
307 21201 H 450,000 0 450,000
EEEREES 450,000 0 450,000
o NEIM L0 H2AS
4,000 * 112,5007+ 0t 450,000
402 PIZHRIZO0IH 300,000 438,000 £138,000
01 PANEDE 300,000 438,000 138,000
o 1Em CYcH sS4 300,000
- EXT Y| 2,000 * 50,000kg 100,000
- At 200,000 * 1,000ha 200,000
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SN AEYSTY
B SASHARSHE
SRl SMERS 1T 84 (Er9): & 2)
_ _ MNuE o
SN -EHH . (B) - MPAY - BE2 Ofl &k 04 il b o HRz2
o SUCH BMIM 28 24IAR A
o 5,700
- SHAISH(AD, S8) 2,700
ES Sy 500,000 * 2JH 24 1,000
? = & 400,000 * 2042~ 800
A=y 300,000 * 30K 900
- JHQIAl &S 300,000 = 109 3,000
307 g2Iz2tol & 12,000 16,050 A4,050
02 2AHAEX 12,000 16,050 A4,050
o THZO sASTE U XY
2,500,000 * 43| 10,000
o SUIIBE 4527 X
500,000 * 42l 2,000
&=zel 3,425 2,838 587
= 3,425
201 LEHRHH| 625 838 A213
= 625
01 AtR2teld 625 838 A213
o LIZAe EEZ2 M 625,000 * 14 625
= 625
202 OdHl 2,800 2,000 800
= 2,800
01 =LHoib| 2,800 2,000 800
o =&l Kl 2,800,000 2,800
= 2,800
stugal Alllg K& 685,308 709,581 N24,273
= 205,593
= 479,715
308 XHXISHHSOIE 685,308 709,581 £24,273
S 205,593
= 479,715
06 wWEJ|I20UstExz 685,308 709,581 N24,273
o SDZAATE KR (55MH24)
1,142,179,000 * 60% 685,308
< 205,593
o 479,715

- 334 -




od
’J
oF
oJ

70
0
&l
o 10
AmoEM
R0 <J 1o
Ho 200k
0 i ok
<<
= Ho Ho

= A
)

X ZH

00J

C]

o o o o o (@) — — — m
<
A0 3
Klo
E
=)
o o o o o o < <t <+ o
] ) B 3 S 8 & & & 8
ol al N [To) 7o) o) N N RZU, Q
LH3r ™
uiled!
KIS
S8 EBEEREE 8 RRIEEEEREEE E88|8E8=28/8§85883 48 3558/§8
3
<
=)
M H m H w M H m H m W m W m W e
< < =
== - Lo
o o >
D._ﬁ x * n_.“/.u_y
0 S S x
5l < H S o
. S IS S
d rOy = nUy 4|,
c o S
< iy B
IF o %0
= z B
a - Rr
. B o) =
M 0 o T_A
) E il
) o ) m__m_ K 20
— K: [ ! K- e = K-
ok | - 1o o3 B 5w
Ul o Pl 2 = Pl i ) HiY z O
il = 0 =% ol = <0 uF =0 = <0 = 40
- |5 s B 0 s po3 A S o 5 v
A 5) Moo= M 5) MoA o0 5) N
R0 < o ol S o ol T o al 31
. 0 WF 0 = 0 <l
N~ N~ N~
z [T = & e S w B 3 w i
I r 10 50

- 335 -



FAN: AEEsEY
Hu: mASMASERL
ol SM2RE JIZ 84 (sl &
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
SEMH 4 = 24,000
= 96,000
307 glz2told 222,000 115,000 107,000
s 160,000
= 12,400
i 49,600
02 QtFAE X 222,000 115,000 107,000
o FENMNY SH(5F)
222,000,000 * 1JH2 222,000
P 160,000
< 12,400
o 49,600
402 QIZEXE0|H 258,000 205,000 53,000
s 200,000
L= 11,600
= 46,400
01 QtR=Ex 258,000 205,000 53,000
o FEMY RH (53 258,000,000 * 14 258,000
s 200,000
< 11,600
o 46,400
SEA BN =Y EHiH K& 197,021 212,207 A 15,186
& 19,404
= 177,617
307 glztold 197,021 0 197,021
L= 19,404
= 177,617
02 SltHAEx 197,021 0 197,021
o FuM MM Y sy KR
1,500 * 64,6802 97,020
= 19,404
o 77,616
o AN BMDM Sy eiyiy X
2,700 = 58,7891 * 63% 100,001
SHERE It 5,069,370 2,412,098 2,657,272
= 1,515,000
s 1,444,800
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S AHE-L!
M s
A

St diRSatel
Ol SM2RE JIUEN (sl &
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
sHEBRE JlBtxd = 573,580
= 1,535,990
SHE MAAIE 2= 8,470 20,000 A 11,530
402 BIZ2HX =0l 8,470 20,000 A 11,530
01 BIZEXI=22 X 8,470 20,000 A 11,530
o HDTA AR YFAAY D=
12,100,000 * 1&5 = 70% 8,470
s&E2 M2MED &X 482,500 418,750 63,750
& 18,000
= 464,500
402 QIZEXE01H 482,500 418,750 63,750
& 18,000
= 464,500
01 QIZIXI=22 X 482,500 418,750 63,750
o s¢tE2 HE2MdED & 437,500
- 28 (3% ,5%) 80 560,000,000 * 50% 280,000
- A2ENEI+YE D 258
225,000,000 * 50% 112,500
- Sgdsl 1s 90,000,000 * 50% 45,000
o &2 A8 H2MELD &X
7,500,000 * 12 * 50% 45,000
& 18,000
i 27,000
sttEe GAKRSHEH (SRS A el AIL) 2,358,400 699, 300 1,654,100
s 1,344,800
& 302,580
= 706,020
402 QIZHXE01M 2,353,400 699,300 1,654,100
s 1,344,800
& 302,580
= 706,020
01 QtR=Ex 2,353,400 699, 300 1,654,100
o Si2 MXRSHE
1,681,000,000 * 2JH 2 * 70% 2,353,400
sy 1,344,800
< 302,580
o 706,020
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SN ASRSTI
Hul: sMSMNRERE
o9l SM2RS JIBEY (el & 2)
SA BB H(BH) - MBAY - B2 Ofl & o %Egg B2
EUSH SHOUC T (ME) 40,000 40,000 0
=2 40,000
307 I2t0|H 40,000 0 40,000
= 40,000
02 ABAEZE 40,000 0 40,000
o SEHUUC w TAI NA(ME)
500 * 80,00004 40,000
2 40,000
BIZATH Xl (&&) 235,000 235,000 0
= 235,000
307 PI2tolH 235,000 0 235,000
= 235,000
02 oUNAMNEZE 235,000 0 235,000
o BIZET X (M)
235,000,000 * 14! 235,000
2 235,000
RPCAE M EAIL XIB ALY 1,950,000 550,000 1,400,000
= 1,240,000
= 100,000
= 253,000
2 357,000
402 QIR OIF 1,950,000 550,000 1,400,000
= 1,240,000
2 100,000
= 253,000
2 357,000
01 2AT=LZE 1,950,000 550,000 1,400,000
o RPC AXMEAIL XIHAY
550,000,000 * 2THA * 50% 550,000
2 440,000
= 33,000
2 77,000
o RPC SRCSTIS EOHSHAY
400,000,000 * 1744 * 50% 200,000
bl 100,000
= 20,000
2 80,000
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FAN: AEEsEY
Hu: mASMASERL
Ol SM2RE JIUEN (sl &
SN HH G (EH) - MBAY - BYS Ak Soe s
= RPC JtSAIE HHSHALS
2,000,000,000 * 1JHZ * 60% 1,200,000
= 800,000
= 200,000
i 200,000
S ZHE 25 3,644,386 1,432,919 2,211,467
= 250,185
s 225,000
& 237,206
= 2,931,995
FAbs0E XI& 2,562,578 1,054,016 1,508,562
= 110,600
s 225,000
& 126,116
= 2,100,862
HZXH 2AZE M & 284 X3 489,993 158,400 331,593
= 45,128
= 444,865
307 2IZ2t0lA 489,993 158,400 331,593
& 45,128
= 444,865
02 glZtFaeEx 489,993 158,400 331,593
o HAMEMZHE L 244 N
489,993,000 489,993
= 45,128
o 444,865
TAE A =F 98,220 72,500 25,720
307 2IZ2t0lA 43,220 72,500 229,280
02 QtFAaE X 43,220 72,500 A29,280
o FEF FEel AAZHEZE YSH =22
74,000 * 280kg 20,720
o MEHEZ SN X
60,000 = 1,250% = 30/100 22,500
402 SIZ2EX =0l 55,000 0 55,000
01 QR=Ex 55,000 0 55,000
o ZAtZ THEHEOH JIREIH X2 (ElH| &2
1) 4,000,000 = 11CH = 50/100 22,000
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FAN: AEEsEY
e N T
EH9l: E4As 0} KIS (Er9): & 2)
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
o ZALZ THUHECH DX K& (HWOl.2
20) 3,000,000 * 22CH = 50/100 33,000
IAIZESH K& 6,400 7,920 A 1,520
& 1,920
= 4,480
307 giz2told 6,400 7,920 A 1,520
& 1,920
i 4,480
02 BIZHEANE X 6,400 7,920 A 1,520
o ZTAIE ZESHKXA(B02) 6,400,000 6,400
< 1,920
o 4,480
guesass N 12,330 10,588 1,742
308 XXIEHMSO0IE 12,330 10,588 1,742
05 XXIEHZ2REEZ3 12,330 10,588 1,742
o SuURezA XNA(ZHIRY) 12,330,000 12,330
N=SEEMENA 2,500 5,000 A 2,500
& 750
= 1,750
402 QIZ2HX =0 2,500 5,000 A2,500
& 750
i 1,750
01 QIZtXI22 X 2,500 5,000 A2,500
o IIE8E24E MNEXA (Kat=I])
5,000,000 * 1CH = 50% 2,500
< 750
i 1,750
TEE RN ANESEXH 270,000 225,000 45,000
= 225,000
= 9,000
i 36,000
402 SIZ2HX =0l 270,000 225,000 45,000
s 225,000
= 9,000
= 36,000
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SN AEY s
HE: B4 YA Y5
ool =40t X (6191 &2
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
01 AN=RLE 270,000 225,000 45,000
o HEY HINY AYSH ZH(SH)
450,000,000 * 1744 * 60/100 270,000
2 225,000
= 9,000
2 36,000
ELEAWE L FAI|P 2F 1,115,250 205,000 910,250
307 I2t0lH 800,000 0 800,000
05 0I2FPIErS 800,000 0 800,000
o NS Z2 X 100,000 * 2,0005 200,000
o CHASMAFZ X
200,000 * 3,000 600,000
402 QIR+ OIF 315,250 205,000 110,250
N EEES 315,250 205,000 110,250
o ZMELHR ASTEM(SE,2H) X
2 40,000 * 2,000m * 80/100 64,000
o ZMBAMLMZZ(DIMER)
,000 * 18,750kg * 80/100 90,000
o 4 AB4IE LYHY BZ(82)
7,500 * 12,0005 90,000
o 4 ABLIE LYHY BZ(N2)
20,000 * 5005 10,000
o RYDE YAAY
400,000 * 2505 * 50/100 50,000
o S 2HNE NEAY
7,500,000 * 34 * 50/100 1,250
HEFELN AST 3,136 2,240 896
= 1,344
2 1,792
01 LerBA3 3,136 2,240 896
= 1,344
2 1,792
12 JlEeaa 3,136 2,240 896
o AHAENES ASN
640,000 * 7HA * 70% 3,136
= 1,344
2 1,792
Az SOl ZARMA IR X 244,437 124,069 120,368
= 32,502
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SN HEY S
i 24 Y Y5
ool =4s0H XIS CREE))
SN-EHH S (3H) - HEAY - BES Ofl &+ o4 %gi Hnz2
AT SOOI TAZMA T X 2 211,845
402 QIR+ OIF 244,437 124,069 120,368
< 32,502
2 211,845
01 LARESE 244,437 124,069 120,368
o Q1A EABML JIHFH XY
244,437,000 244,437
= 32,502
2 211,845
HEADLIOL M2l HEY X 1,332 1,920 A 588
= 267
2 1,065
402 QIR+ OIF 1,332 1,920 588
= 267
2 1,065
01 A== 1,332 1,920 588
o HEADLIOLHE HILTR
74,000 * 187 1,332
= 267
2 1,065
ERLHAL N 218,600 148,395 70,205
2 104,200
2 114,400
307 21201 62,000 0 62,000
2 31,000
2 31,000
02 DIANTHBE 62,000 0 62,000
o oy AZH X 200,000 * 310ha 62,000
2 31,000
2 31,000
402 QIR OIF 132,600 148,395 ~15,795
2 61,200
2 71,400
01 DIAREEE 132,600 148,395 A15,795
o WHKHEEX XX 102,000,000 * 80% 81,600
= 30,600
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S A

I
By S0 3B U5
= Ab
= o

Sl SabsOl NE (e @
SA - SR(E) - HRAY - BES 0 & 24 e HIRE
= 51,000
o JHEZS A (SIHIAL) 102,000,000 * 50% 51,000
=2 30,600
= 20,400
405 XAHFSH] 24,000 0 24,000
2 12,000
2 12,000
01 XRMLESEFSH 24,000 0 24,000
o MHlgEEAD) 24,000,000 * 14 24,000
=2 12,000
2 12,000
ZNSAHAH B2 19,520 15,134 4,386
= 4,485
2 5,035
402 S12HXHE 01T 19,520 15,134 4,386
= 4,485
2 15,035
01 SIAXERE 19,520 15,134 4,386
o ZNBAMLH B3 32,400,000 * 50% 16,200
= 3,240
2 12,960
o SYXIE LAY o3 HIH X &
4,150,000 * 80% 3,320
= 1,245
2 2,075
BUSHAY 28,500 16,120 12,380
= 14,250
2 14,250
402 SI2FXH=0IF 28,500 16,120 12,380
< 14,250
2 14,250
NEEEEEES 28,500 16,120 12,380
o BUSHAY 28,500,000 * 25 * 50% 28,500
= 14,250
2 14,250
MRt ZIIRIIALS 16,000 16,000 0
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SN AEYSTY
By S0 3B U5
ke (Et9): & 2
SN -EHH . (B) - MPAY - BE2 0 Ak o4 e HRE2
HRBHSE I PRI A = 8,000
= 8,000
402 2IbX=01M 16,000 16,000 0
= 8,000
i 8,000
01 BIAX=2E=x 16,000 16,000 0
o WRESEH IHPIIAY
10,000,000 * 2JHZ = 80% 16,000
= 8,000
s 8,000
Sohs0F A XA 6,000 3,000 3,000
= 1,200
= 4,800
402 2IHX=01H 6,000 3,000 3,000
= 1,200
= 4,800
01 BIZAR=2E=X 6,000 3,000 3,000
o HiHsIh YR X
3,000,000 = 4CH* 50% 6,000
< 1,200
i 4,800
S EHOIENSAHALL 8,160 2,880 5,280
= 3,060
i 5,100
402 2ItX=01M 8,160 2,880 5,280
= 3,060
i 5,100
01 BIAR=2E=x 8,160 2,880 5,280
o HBFHNOIB HERRK
120,000 * 85HIE = 80% 8,160
= 3,060
i 5,100
UM F4M=S MUXRE 2,600 2,600 0
= 520
i 2,080
402 2IHX=01M 2,600 2,600 0
= 520
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S A

I
By S0 3B U5
= Ab
= o

EHol: Z4HsIh X (et9l: 22
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
402 SIZ2HX =0l i 2,080
01 QtR=8=x 2,600 2,600 0
o DEMH ZMSMMX
5,200,000 * 19H2 = 50% 2,600
= 520
i 2,080
HRA22HEE XNE N ALY 11,200 0 11,200
= 6,400
= 4,800
307 glzZtold 11,200 0 11,200
= 6,400
i 4,800
02 glztHaEx 11,200 0 11,200
o YRAZHHE N XA
8,000,000 * 29H2 = 70% 11,200
= 6,400
i 4,800
SIISHTHU S AIAE &X 8,400 0 8,400
L= 3,600
= 4,800
402 QIEXE01 M 8,400 0 8,400
& 3,600
i 4,800
01 QtR=8x 8,400 0 8,400
SIS MU SAIAE £X
6,000,000 * 2 = 70/100 8,400
< 3,600
i 4,800
408t 25 1,081,808 378,903 702,905
= 139,585
= 111,090
= 831,133
IEHHHF Y 75,962 56,597 19,365
= 52,119
& 9,365
= 14,478
206 THZ=Hl 75,962 56,597 19,365
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B B4 AWM Usl
el EADIY 7 LR
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206 = Hl = 52,119
& 9,365
= 14,478
01 M=ZHl 75,962 56,597 19,365
o Jis 2o HF Y 75,962,000 75,962
= 52,119
& 9,365
o 14,478
sYH s 228 XA 102,762 54,270 48,492
= 51,381
& 15,414
= 35,967
301 YBtEAE 102,762 54,270 48,492
= 51,381
& 15,414
2 35,967
12 JIEIEAZ 102,762 54,270 48,492
o JIEES ZSsHHE 22|
2,700 » 1,903 * 202l 102,762
= 51,381
= 15,414
i 35,967
SOLXl M AOFE AL 23,500 16,900 6,600
& 7,050
= 16,450
307 QI2t0IA 23,500 16,900 6,600
= 7,050
i 16,450
05 GIZtREZ 23,500 16,900 6,600
o ZO0HK A QFH ALY 10,000 * 2,350 23,500
= 7,050
i 16,450
grdHEdE=Y 36,000 35,000 1,000
& 15,000
= 21,000
403 XXM EX20IH 36,000 35,000 1,000
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403 XXISHS K201 = 15,000
2 21,000
02 ZIIZSHHE A ] 36,000 35,000 1,000
o HX BYSBUE S4 36,000,000 36,000
= 15,000
2 21,000
IEEHY U 121,352 148,595 ~27,243
201 Ysr2g| 1,800 25,050 23,250
01 At 2eldl 1,800 18,184 16,384
< ypragy > 0
o MIRUMASO & ASUX HMH
500 * 2,50000 1,250
o =Y oY 2 100 * 2,5000H 250
o BNZ 4N FAMAM WE 2
20,000 * 1524 300
206 Mzl 90,082 83,375 6,657
EEE] 90,032 83,375 6,657
o EiisIt AS%E BZ(82)
24,000 * 25857} * 6kg 37,152
o EiEII ASHE BI(HL)
24,000 * 17557} * 20kg 8, 160
o ZHiEIt AS%E I2(FHN)
24,000 * 2457} * 20kg 1,520
o Z{Hs)t AS%E B2(028)
23,000 * 2057} * 20Kkg 9,200
o IIEMYY LM XY AS
24,000 * 1,000k 24,000
301 YsrPAZ 24,720 39,270 A 14,550
10 SAAHIZ A3 1,200 1,200 0
o EHMEIIDS 30,000 * 40% 1,200
12 JlErEAS 23,520 36,370 £12,850
o BLIYMN 9IE 2Y
490,000 * 4% * 122 23,520
303 Ea3 4,800 0 4,800
01 Za3 4,800 0 4,800
o BOILOIA YOIHE TS
400,000 * 128 4,800
DEUHC W2 K 32,732 17,337 15,395
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SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
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= 4,910
2 11,456
206 MZHl 32,732 17,337 15,395
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= 4,910
2 11,456
01 Mzl 32,732 17,337 15,395
o TS YN Wb XV
32,732,000 * 14! 32,732
= 16,366
< 4,910
2 11,456
4 B4 HE 65,730 31,500 34,230
= 19,719
= 13,803
2 32,208
01 YAz 65,730 31,500 34,230
= 19,719
= 13,803
2 32,208
12 JIE2A= 65,730 31,500 34,230
o 4 2242 W 7,000 * 9,3005 65,730
= 19,719
< 13,803
2 32,208
HRSEAY 9,870 9,870 0
= 3,948
2 5,922
307 SI2t0lA 9,870 9,870 0
= 3,948
2 5,922
05 SIAEZ 9,870 9,870 0
o B2 SEAY 7,000 * 1,4105 9,870
< 3,048
= 5,922
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